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“» mwn: list of mman which require nna% ,1nw, both or neither

a  both: flour, pan fry, deep fry, loaves, wafers, 3”21 0’313 nnin, non-Jews, women and My (total — 10 [8"] — contra v who

maintains that you may bring 5/5 in m1n narn)
b only oil: p201 NN
¢ only 7na5 onan ond
d  neither: 2 loaves of my1aw, RVIN NN and (MVIO) MIRIP NNIN
RN 2: explicating v. 1:
a  jpw oY nnar and not on D740 onY, in spite of 17p from p22v1 Nnan (which doesn’t have 119, yet has 1nw)
b /a5 75y npwr and not on woV) NN, in spite of 1" from w2180 ONY (inverse of above)
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note: in both of these, we did not exclude p’1n3 nnin, in spite of some parallels, since nmnn s is introduced with

"vay”, we prefer to be inclusive of n’ nmmn and to exclude public mmnin

¢ Amp: includes "»nw nmn (brought at dedication of 19wn — also requires n1aY)
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and: not to exclude it; if so, no need to mention it, as we wouldn’t infer nyw from M7

d  A’7 excluding onon 'nw from both 1nw and N2’

i

and not: excluding 0’103 nmn, (even though onn 'nw have more points in common); due to "w91” (as above)

"1 mwn: liability for putting 10w or N11a% on RN nmin (e.g.) that gets neither
a liability: for each

i

~1272: no need for separate 0’13, one putting oil and other putting n111%, per MYy (one nMn)

b consequences:

i
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oil: invalidates immediately
72122 he may pick it out and the nmn is still valid

¢ if he put oil on the D»W - no violation
d  if: he put a > that has oil in it atop a X0 nman — no violation
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~n227.2: violation only for putting directly on nman, per n5y

~r7772: explicating v. 2
a  jpw 25y oowr &Y. and that invalidates the nnin
b Anab 25y i &5r does not invalidate — due to X0 NRVN (i.e. remains a NRVN nonetheless)
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Justificaiton for distinction: oil cannot be removed, N125 can be plucked out

Question (asked of 2r11 ’7): what if the n»a% is ground up

1 Lemmal: is the difference based on the ability to pluck it out - which isn’t the case here

2 Lemma2: is it because oil is absorbed into the flour, in which case even ground nna’ is different
Answer: our mwn states that he should pluck out the n11% — supporting lemmal

Challenge: perhaps that is giving one of the two reasons — and both are valid

1 response: Rn1a (above) justifies distinction by pointing to n11 as “pluckable” — per lemmal

2 challenge: perhaps that is also one of two reasons

answer (?7277): 11 — if he put nmaY on n"n, pluck it out;

1 If: he had wa nawnn while nna% was on it — “only” %09

2 But if: he had 5»a nawnn after plucking it out — full s

3 Conclusion: n11% is inherently a Y019, but if it can be plucked out - restores validity (if not — 509)

Challenge: why is there any 08 while n111% is on it —as if oil fell on it and be »"n7 (2 nawnn doesn’t count)

1 Answerl (»ax): nn still refers to it as a nkon (= still valid enough to be vulnerable to 108 nawnn)
2 Answer2 (837): follows »1¥nn 1310 who rejects notion of »n7, per his ruling re: 2"nv
3 Answer3 (?®x 37): as long as he is in control of fixing it, not considered »n7

(a) Proof: nmiv "7, who accepts "nT (vis-a-vis 3"nv), allows for “repair” if in control (“clean-up” of noa 12p)

1 7’s ruling regarding 71w of 1nw and N1’ (to invalidate)

a  /pw any amount (per W RY) but must be on n’1a (1°9Y) — (alternatively — he asked whether there must be 1w n’r2)
b /7125 must be n1 (per 1 ®Y) but may be on any amount of nmn (per MYy — which is a 127 IR "127 > VYNN)
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